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Time: 10 Minutes Paper Science 8 Total Marks: 10

3rd Month, 2nd Week, 5th Day | Syllabus: Unit # 6 Balancing the chemical equations
Q.No.1 Encircle the correct answer from the following choices. (0.5 x 6 =3)
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i. Which of the following is a balanced chemical equation?
?%@I;V(j.l:‘fu}’?u)féu:u‘
(a) H2>+ 02 = H20 (b)] HCl+NaOH — NaCl + HxO
(c) Mg+ 02 —> MgO d) CHs+ 02 —» HxO0 + CO
ii. Which of the following is a commonly used method to balance chemical
equation? fe b o1t u/”?fc«bv&k{y)’r b3 Al S
(a)| Oxidation method ﬁ‘fﬁiﬁ/ 7 (b)|Trailand errormethod /%{'Q'JT/L

(¢)| Ion electron method ﬁ‘fw f'g 'J 7 (d)| None of these «d:‘; L}fc_ AL
iii. CHs + O2 = H20 + COs in the eqaution how many hydrogen atoms are
required to balance? ?c".dn.:«/;/J y":l(fui'yé“":gj.ccu}l}"f(fui'g(ﬂobvng:
@ 1w 2 ol 3 faf 4 |
iv. Which of the following is a correct and balanced equation?
?cl'.c«’:vu)l?/;lu/)(fuf:_u: ol

(a) 2Mg + O, — 2MgO (b) Mg + O — MgO»

© Mg+ 0 —> MgO () Mg+ 0, = MgO

v. Which chemical equation is an unbalanced? ?‘Lu)l}"'ﬁaabv&lﬁ.’/ u’u/
(a) N2+ 3H, —> 2NH; ()| NaOH + HCl — NaCl + H,0

() CH4 + O —> H20 + CO2 (d) Zn + HxSO4 —> ZnSO4 + Ha

vi. Which of the following is a diatomic molecule? Vc‘;dzg y wduvwé—.u: U

@ Na ) N, |©] 0 @ mo |
Q.No.2. Write short answers. (2x2=4) .gf.‘!"J c«l..’i/‘:"
i) N2 + H2 —> NH3 balance the given equation. - A u)'?fob l/é{j)
(ii) What is trail and error method? ?LL g%“/'i?,igj 1/
Q.No.3. Write long answer. 3) .g}.‘."J h..«'ﬁ&fﬂ

(i) Write down the rules for balancing chemical equation.
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i. Which of the following is a balanced chemical equation?
Sl (LU e

(a) H>+ 02, = H20 ()] HCl+NaOH — NaCl + H.0
(©) Mg+ 02 > MgO (d) CHs+ Oy —» HxO+CO»
ii. Which of the following is a commonly used method to balance chemical
equation? fe eIt Sy l?fc«l;l/(j.l{:./{u"(lc;é{ Al S
(a)| Oxidation method ﬁfgf-"fg—f T |(b)|Trailand errormethod %{'ﬁakﬁ/b

(¢)| ITon electron method %u:}g 'uﬁ 7 (d)| None of these -Jj d)/c;ufu'
iii. CHs + O2 = H20 + CO: in the eqaution how many hydrogen atoms are
required to balance? ‘.'ct'_dytcpn/bd/ ﬁ.l‘fui’ygfgj.éu)l?f‘fuﬂufcplslng s
@ 1w 2 Jol 3 jaof 4 |
iv. Which of the following is a correct and balanced equation?
‘-'c;..:«bl/u/”i’/;’..wuu'ufc_u:ul

(a) 2Mg + O, —> 2MgO (b) Mg + O, = MgO;

© Mg+ 0 — MgO () Mg + 0, = MgO

v. Which chemical equation is an unbalanced? ?‘auﬂ}"‘/{.abl/&l_a:rduf
(@) N2+ 3H, —> 2NH; ()| NaOH + HCl = NaCl + H,0

() CHs4 + O = H20 + CO2 (d) Zn + H>SO4 — ZnSO4 + Hy

vi. Which of the following is a diatomic molecule? ?c"_dzg .y (TR} l/c):(:.-uful

@ N [ N Jo] 0o J@ Ho ]
Q.No.2. Write short answers. (2 x2=4) _u:,,i .:«Lli/z;
(i) N2 + H2 —)NH3 balance the given equation. - /uﬂ?’[:abl/u{b
(ii) What is trail and error method? ?+ g%;'ﬁakf 1’
Q.No.3. Write long answer. 3) 'u:,,i ...«’ﬁ&’-'d

(i) Write down the rules for balancing chemical equation.
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